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Lösungen SS2014 

(ohne Gewähr) 

 

1. Kinematik 

a.) a=v/t=9.25 m/s²         

b.)  v=at=64.75 m/s=233.10 km/h          

c.)   v=v0-at => t=(v-v0)/a=4.89  s        

d.) sBesch=1/2at²=226.62m 

      sverz= - ½ at²+vt= 206.03 m 

     s=sbeschl.+ sbrems= 432.65 m       

e.)s=(1/4)(2πr)= 10π m        

    t=s/v=1.61 s 

f.)mgµ=mv²/r => µ=v²/(gr)=1.93        

g.)            

 

 

 

 

 

            

 

 

 

 

 

 

f.)  v(t) = ʃ0
t  a(t)dt + vk         

           = -(3/4)vmax exp(-t/t*) + (3/4)vmax + vk 

      v(20s) = 73.24m/s = 263.66m/s 

   

     s(t)= ʃ0
t  s(t)dt          

              = ¾*vmax t*(-1+exp(-t/t*))+ (3/4)vmaxt + vkt  

    s(20s) = 1094.43 m 
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2. Massenträgheitsmoment 

a.) ω = 2π/T = 0.315 1/s         

b.) v = ωl = 1.57 m/s  

c.) Satz von Steiner 

   Jausl = Js + mr²  (r=1.5m)        

          =40833 kgm² + 1000kg (1.5m)²=6333.33 kgm²     

d.) Jkran = Jausl   + Jmast         

                  = 6333.33 kgm² + 181.11 kgm²       

              6514,44 kgm² 

  e.)  Jges = JKran+mr²          

              = 6514.44 kgm² + 1000kg (5m)² 

                 31514.44kgm²        

g.) Winkelbeschleunigung: α=Δω/Δt=0.0315 1/s²    

    M = Jges α = 984 Nm        

g.) Drehimpulserhaltung         

     da kein äußere Drehmomente       

f.)Lvor=Lnach         

     ω‘(r) = ω(Jges/(JKran + mr²))       

 

 

3. Pendel 

   ω=(g/l)1/2          

da g kleiner ist die Kreisfrequenz kleiner      
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4 Knopf 

a.) Spannenergie         

E=1/2kx²=1/2 500N/m 1cm²=0.025J  

b.) F=kx          

=5N          

a. a=F/m          

= 100m/s²          

b. EES 

Ekin=Espan         

v=(2E/m)1/2=1m/s        

c. ω=(k/m)1/2         

=100Hz          

d. ω=2Pi/T         

T= ω/2Pi = 15.9  s       

e. |v|=|y| ω          

|y|=|v|/ ω=1cm Aufgabe: y(0)=-1cm => y=-1cm      

f. y(t)= -1cm cos(100Hz t) 

g. y(10s) = -5.62 mm      

 

5. Wellen 

a.) ω=2Pi/T=2Pi c/ʎ=1.9*1011 1/s        

b.) k=2Pi/ ʎ =628 m-1       

 c.) E(1mm,t)=100 V/m sin(628m-1 * 1mm) cos(ωt)= 100 V/m sin(0.628) cos(ωt)=58.5 V/m

        

 


